


EXPLODED VIEW: EV BLK HEATER 2.5L G3 BOSCH   

DRAWING #:  0F2439  GROUP D  
APPLICABLE TO:  

 

ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0009702-B  Page 2 of  2 
DATE:  10/23/17 

 1 G084427 1 BRACKET HEATER W/WELDNUTS 
 2 G084918 1 HEATER ENGINE 0500W 120V 
 3 0L4800 1 BARB Y 5/8 HOSE 
 4 G050967 1 HOSE COOL 5/8 ID 20R3 (25”LG) 
 5 G050967 1 HOSE COOL 5/8 ID 20R3 (20”LG) 
 6 G053660 1 BARBED STR 1/4 NPT X 5/8 
 7 G046964 1 BARBED ST EL 1/4 NPT BRASS 
 8 G030421 1 ELB STREET 45D 1/4NPT 
 9 G057822 6 CLAMP HOSE #8 .53-1.00 
 10 G042568 2 SCREW HHC M6-1.0 X 20 G8.8 
 11 G022473 4 WASHER FLAT 1/4-M6 ZINC 
 12 G022097 4 WASHER LOCK M6-1/4 
 13 G049813 2 NUT HEX M6 X 1.0 G8 YEL CHR 
 14 G047411 2 SCREW HHC M6-1.0 X 16 G8.8  

 


